
W688ZZ BEARING

RIGHT ANGLE MOTOR

PUG FRONT AXLE

USB 1S CHARGE AND PROT BOARD

PUG FRAME STRETCHER

PUG FRAME STRETCHER

PUG SPLIT BOILER BOTTOM 10mm-ft

ALL FASTENERS USED ON THIS MODEL ARE METRIC

PUG BUFFER REAR BEAM 10mm-ft

PUG LH CAB STEP 10mm-ft

PUG FRAME LH 10mm-ftPUG FRAME RH 10mm-ft

PUG BUFFER BEAM 10mm-ft

PUG CYLINDER RH

G1 PUG DRIVER WHEEL 30MM

4 REQUIRED

ACCEPTS 4 X M2.5 CSK SCREWS
2 INTO FRAME STRETCHERS

2 INTO BUFFER BEAMS

HOLDS 2 X M2.5 CAPTIVE NUTS
TOP HOLE M3 CLEARANCE

HELD TO AXLE AND MOTOR WITH M2.5 CSK HEX SKT HD SCREW (BLACK)
ACCOMODATES M2 NUT ON REAR FOR CRANK PIN

PUG QTR BUSH
ACCEPTS M2.5 SCREW INTO MOTOR SHAFT

AliExpress
TTMotor Smart Car etc.

HAS 2MM CLEARANCE HOLE
FOR M2 SCREW HOLDING
STEP / FOOTPLATE / CAB

PUG RH CAB STEP 10mm-ft

LOWER ASSEMBLY IDENTIFYING
FASTENERS ETC.

A

ACCEPTS 4 X M2.5 CSK SCREWS
2 INTO FRAME STRETCHERS

2 INTO BUFFER BEAMS

HOLDS 2 X M2.5 CAPTIVE NUTS
TOP HOLE M3 CLEARANCE

 3D PRINTED OR MACHINED
FROM 6MM SILVER STEEL
TAPPED M2.5 EACH END

LINED WITH ALBION ALLOYS
BT4M BRASS TUBE (4X3.1)

TAPPED 2 X M2.5 FOR FRAME SCREWS

TAPPED 2 X M2.5 FOR FRAME SCREWS

HOLDS M3 CAPTIVE NUT AND HAS M3 PRINTED HOLE
BOTH FOR CSK SCREWS THROUGH FRAME

STRETCHERS VIA FOOTBLATE 

HAS 2MM CLEARANCE HOLE
FOR M2 SCREW HOLDING
STEP / FOOTPLATE / CAB

A3

F

E

D

8765

B

A

8764

C

51 2 3

A

B

4321

C

E

D

F

"T
H

IS
 D

R
AW

IN
G

, E
N

G
IN

EE
R

IN
G

 R
EP

O
R

T 
O

R
 D

O
C

U
M

EN
T 

IS
 C

O
PY

R
IG

H
T 

AN
D

 P
R

O
PE

R
TY

 IS
 R

ES
ER

VE
D

 T
H

ER
EI

N
 A

N
D

 T
H

E 
IN

FO
R

M
AT

IO
N

 C
O

N
TA

IN
ED

 T
H

ER
EI

N
 IS

 C
O

N
FI

D
EN

TI
AL

. T
H

IS
 D

R
AW

IN
G

, 
EN

G
IN

EE
R

IN
G

 R
EP

O
R

T 
O

R
 D

O
C

U
M

EN
T 

AN
D

 IN
FO

R
M

AT
IO

N
 M

AY
 N

O
T 

BE
 R

EP
R

O
D

U
C

ED
 O

R
 C

O
M

M
U

N
IC

AT
ED

 T
O

 A
 T

H
IR

D
 P

AR
TY

 O
R

 U
SE

D
 F

O
R

 A
N

Y 
PU

R
PO

SE
 O

TH
ER

 T
H

AN
 T

H
AT

 F
O

R
 W

H
IC

H
 IS

 
SU

PP
LI

ED
 W

IT
H

O
U

T 
TH

E 
PR

IO
R

 W
R

IT
TE

N
 C

O
N

SE
N

T 
O

F 
PE

TE
R

 J
AC

KM
AN

.

SHEET 
1 OF 1

TOLERANCES
UNLESS STATED

UNLESS OTHERWISE STATED
CHAMFER OR RADII 0.13 (0.005") MAX. REMOVE BURRS 
& SHARP EDGES. DIMENSIONS APPLY AFTER PLATING

SCALE
1:1

DIMENSIONS
mm 

FINISH
SELF COLOUR

MATERIAL TITLE
GAUGE 1 L&Y CLASS 21 (PUG)

0.                  0.4
0.0                0.1
0.00              0.05
ANGULAR    0.5

SURFACE FINISH
3.2

ESTIMATED 
MASS

354.85g

LAST CHANGE DETAIL KEY CHARACTERISTICS 
IDENTIFIED BY THE FOLLOWING 

SYMBOL

DO NOT SCALE.
IF IN DOUBT ASK.

BS 8888

XX

X.XX

THIRD ANGLE PROJECTION

MADE FROM
3D PRINTED 

PAARTS

DRAWING NUMBER
040-ST-PUG ASSY 10mm-ft

D2030002[A.01]

ISS. DATE DRAWN DRAWNDATEISS.

P.R.J.25/02/2023

Material <not specified>


	Sheet1
	Drawing View1


